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0. Introduction

The study of the Empty Category Principle (ECP) has enjoved
a lot of attention within the Extended Standard Theory
tradition. Since the Pisa workshop of April 1979, a number
of modifications have been proposed and the principle, in
one or ancther form, has been brought to bear on a consid-
erable range of phenomena, See particularly Kayne (1981)
and Jazeggli (1980). In 1984, Lasnik and Saito (L&S) propose
their formulation of the ECP. Their ECP applies not only at
LF, but alsoc at S-structure. The purpose of this article is
to show that their ECP also applies at NP-structure, hence
at all syntactic levels apart from D-structure.

1. L&S's (1984) ECP

Thelr ECP has two parts. First, it indicates under what
circumstances proper government obtains. Second, it filters
out representations containing traces for which proper gov-
ernment did not obtain. The first part is regarded as the
assignment of a feature, [+y], under certain circumstances,
and the assignment of [-P] otherwise.
(1) t—> [+Y] when lexically governed or antecedent-
governed.
t—> [-¥] otherwise.
The second part is regarded as the following filter:
(2) * t
(-¥I]
They formulate the notion "antecedent government" as follows:
(3)A antecedent~-governs (3 if
a.(and B are coindexed
b.d c-commands (3
c. there is no y(Y an NP or S') such that X c-commands
Y and ¥ dominates (3 , unless3is the head of /.
Turning to the nature of "lexical government", it involves
government by a lexical category X°. It obtains only when
there is a relationship ketween the governor and the governee,
namely, the relation of B—role assignment and that of Case
assignment,

2. NP-Structure

Riemsdijk and Williams (1981) and Tanaka (1983) argue for
the existence of a level of representation called NP-struc-



ture. NP-structure is derived from D-structure by means
of move{, and S-structure is derived from NP-structure by

another round of move (X .
(4) D-structure

move A

NP-structure

movegk

S-structure

3. NP-Structure and L&S's ECP

In this section, I will demonstrate that L&S's ECP must
apply at NP-structure. :

Consider first the following sentence:

(5) How gquickly found to be not guilty Nixon was /
The D-structure underlying (5) is (6) (irrelevant details
omitted):

(6) _s'

e

\
Comp S
NP/ \ VP
l / \VP

e (=an empty category) Y e
was AdvpP v s
Q

how quickly found Comp

=

NP VP

[ = .

Nixon to be not
guilty
NP-structure as in (7) derives from the underlying D-
structure by NP-movement,
(7) .s!
e

Nixon A% VP
| — Qi:\\\\\\\
v St
|
how quickly found Com S
q Y P//// N
NP VP
| e

t.l to be not guilty
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Wh-movement maps the structure (7) to S-structure (8).
]

(8) L

Comp )
VP NPi \"25
] ! N
| Nixon v VP
AdvP v S [ |
S~ 2
how quickly found Comp S\\\\\\
NP VP
t. to be not guilty

i

L&S argued that Y -—assignment obligatorily take place
at S-structure and at LF. At each level, [+Y] is assigned
to a trace that is properly governed, and [-Y]is assigned
to a trace that is not properly governed. The one excep-
tipn, for both [+Y]- and [-}]-assignment, is the trace of
nonargument., They showed that such a trace is not a target
of)’-assignment at all at S-structure, but only at LF.

In (7), the trace of Nixon is an argument trace and hence
must receive theY-feature at S-structure. Consider the

S-structure in (8). Here, the trace of Nixon is not ante-
cedent-governed, since the c-command requirement, (3b), is
not satisfied. It is not lexically governed, either.

Recall now that L&S's lexical government obtains only when

there is a relationship between the governor and the govern-

ee, namely, the relation of ff-role assignment or that of

Case assignment. The trace of MNixon is not Case-marked

by the higher predicate, since a passive participle does

not assign Caselt is not @-marlked by the higner predicate,elither,
since it receives a f-role from the lower VP. Hence,the

trace of Nixon is necessarily marked [~¥]. Thus, the trace
violates the ECP, and (5) is incorrectly ruled out.

Consider now the NP-structure representation of sentence
(5), namely (7). The trace of NP-movement of Nixon in (7)
can not be lexically governed, since lexical government
obtains only when there is a relationship between the gover-
nor and the governee, namely, the relation of f-role assign-
ment or that of Case assignment. However, this trace is
antecedent-governed. The verb found triggers S'-transparen-
¢cy. Thus, at NP-structure no S£'-node intervenes between
Nixon and the trace in the embedded subject position. EBoth
of the requirements (3a) and (3b) are also satisfied in (7).




Consequently, the trace of Nixon can receive the feature
[+Y] from its antecedent, as desired. This leads us to the
hypothesis that Y -assignment must apply at NP-structure. If
not, the ECP incorrectly rules out the grammatical sentence
(3).

Consider next the following sentence:

(9) How likely to win is he?
The D-structure is (10),

(10) [ e ] is how likely [he to win]
(11) derives from the D-structure by NP-movement.

(11) he, is how likely [ t. to winl]
(11) is th& NP-structure underiying (9) . Wh-movement maps
the NP-structure (1ll) to (12).

(12) [how likely [ ti to win J11. is hei t.
(12) is the S-structure underlving- (9). J

In the NP-structure (11l), t. is not lexically governed,
since in this case the embedded subject position is neither
Case-marked nor B-marked by the higher predicate. Note that
an adjective is not a Case-assigner. But ti is antecedent-
governed. The adjective likely triggers S'=transparency.
Thus, at NP-structure no S'-node intervenes between he and
the trace in the embedded subject position. The require-
ments (a) and (b) in (5) are also satisfied, since he and
the trace are coindexed and the former c-commands the latter.

In the S-structure (12), on the other hand, t. is neither
lexically governed nor antecedent-governed., +t. Is not ante-
cedent-governed, since he dces not c-command it. &, is not
lexically governed, since it is neither Case-marked nor
O-marked by the higher predicate. Hence, t., will be marked
[-}Y] and the grammatical sentence (9) will ﬁltimately be
filtered out. This leads us to conclude that an argument
trace receives a Y -feature at NP-structure.

Consider now the following sentences:

(13)a.How quickly found Nixon was to be not guilty!

b.How likely is he to win?

At the level of S-structure, we have the representations
(l4a,b) for (l3a,b), respectively:

(14) a. St
_—
cons e
NP P St
VP 1 1 / N\ — IN
— k~\\\\ . Nixon v VP Comp S
AdvP ’//—V_\\\\\ | i _— AN
e T
how quickly Y F' was tk NP VP
l ._a__/.__;.
found tj t. to be not

guilty
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Comp
P!P n/ *"P\
/ k\ l , / \ /SJ
QP Al was he ,V Pip Comp \S
l e \ , t t
how ? T n k
likely tj N VP

| N\

t. to win
{(Whether the extrapcsed S' is adjoined to S or VP is irrele-
vant here.)
In (l4b), the trace of he is not lexically governed by
likely. Hence, it needs to be antecedent-governed. Is it
antecedent-governed? As already noted, S' is an absolute
barrier to antecedent government in the sence that only
the head of &' can be antecedent-governed by an element out-
side this S'. S'-transparency is not available in (14b),
since S' is outside the dcocmain of likely; hence ti is not
antecedent-governed, yielding the false predictiofl that
(13k) is ungrammatical. Turning to (l4a), here again,
is not lexically governed nor antecedent-governed, for tﬁe
reasons just discussed.

Let us now look at NP-structure. The NP-structure of
(13a,b) are (7) and (ll), respectively. We have already es-
tablished that both in (7) and (l1), t., 1is antecedent-gov-
erned. Eence, we have to conclude that the ECP applies at
MP-structure,

Consider finally the following sentence:

(15) How likely do you think that John is after seeing

his practice to win?
(15) has the S-structure representation (16).



SF

(16) 5" —
Comp/ \ < tl +to win

LP dS/‘gg\\:} \\\\\\ PP
j ///lﬁ“““-=:
/ \ /

you V after seeing his

oP Al I // \\\Sfactlce
’ think Comp
how é/// \\é' // \ /// \

| | that AP NP
likely tk
] John

is t
Since the trace t. in (16) is an argument trace, it mast be
properly governed at S-structure, because the sentence (15)
is grammatical. However, t., is neither lexically governed
nor antecedent—governed in (16). t. is not lexically gov-
erned, since likely neither aSSLgns Case nor 6—narks t,
t. is not antecedent-governed, since the c-command reqﬁlre—
mént is not satisfied and S§' intervenes between the gov-
ernor and the governee. Thus, the grammatical sentence
(15) is ruled out as a violation of the ECP.

Let us now turn to NP-structure. The NP-structure re-
presentation of (15) is identical to (11) in relevant re-
spects. We have already established that in (1l1) t, is
antecedent-governed. Hence, if we assume that L&S'S ECP
applies at NP-structure, we can explain the grammaticality
of (15).

4. Conclusion

Qur concern has been L&S's ECP. We concluded that L&S's
ECP must apply not only at S-structure and at LF, but also
at NP-structure. Thus, schematically, the organization of
*the grammar should be as follows:
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(17) D-structure

Affect 0A
Assign y

NP-structure

AffectCA
Assign Y

S-structure

Affecto(
Assigny

LF
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